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/ 1 Boruucnu:

hY

34 000cm = ..m

A. 34m
B. 3400m
C. 3Mm40cm
D. 340 m

OO




/’ 2 Beruucnu:

hY)

Bbnet b mec = ..mec

A. 65 mec
B. 55 wmec
C. 35 wmec
D. 60 mec




3 Boruucnu:

1 Bek BO net = ..net

A. 100 aer
B. 150 aer
C. 1500 aer
D. 15 aer




/ 4 Buruvcnu:

A

72 BbOOkKr = ...4

A. 721

B. 72501
C. 725000
D. 7251

OO




/ 5 Boruucnu:

63 Kr = ..
A. 630T
B. 63000r
C. 6300000
D. 36 000r

OO




N 6 Bbrumcnu:
e

pY

58 am?2= ..cm 2

A. 5800 cm ?
B. 580 cm 2
C. 8500 cm?
D. 58000 cm?

OO




7 Bbltmcnvn
4 000 000 m%= ..km °

A. 40 xkm ?

B. 4000 xm >
C. 4xm?

D. 40000 xm 2

OO




'* 8 Boruucnu:

ZOKM BOOM - 2 km 200m
A. 20 xMm 300Mm

B. 18 xm
C. 18 xm 300m
D. 18 xm 200m




9 Beruucnu:

45 MUuH + 1 4 15 muH

A. 14u50 mun
B. 2u

C. 24910 Mmun
D.

2 94 50 mun




/ 1 O Boruucnu:

A

10 T - B0 kr
A. 91 500kr
B. 97150«kr
C. 971

D. 971950 kr

OO
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OtmeTKa
A

«5» - 10 6aaroB
«d» - 8-9 6aanroB
«3» - 5-7 0aaaroB

«2» - 1-4 6aana







